Sr. No. of Question Paper : 690

Unique Paper Code : 52417612

Name of the Paper : Management Accounting
Name of the Course : B.Com (P) CBCS

Semester VI

Duration : 3 Hours Maximum Marks : 75

Instructions for Candidates

1.  Write your Roll No. on the top immediately on receipt
of this question paper.

Attempt ALL Questions.
Simple Calculators are allowed to be used.

Working Notes should form part of the answer.

Answers to theory questions should be brief and to
the point. '

6. Answers may be written either in English or Hindi;
but the same medium should be used throughout the

paper.
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: s
| () Materia] and Laboyr requirements

Direct Materia]

ial @ 20 per unit
- Direct Labour @ %20 per hour
Material Wastage Rate
Expected increase in labour productivity

Production Overheads (including depreciation) (%) 20.896 19.672

Depreciation on Production Machinery (%) 1.6 1.6

Administrative Overheads (3) 15.36 14.72
Selling & Distribution Overheads (%) 152 144
Sales @ 800 per unit 128 96

Required: Prepare Flexible Budget at 50% and

90% capacity. (15)

OR ALTERNATIVE QUESTION

Calculate all the labour cost variances from the
following infdrr‘na’;ion provided by ALOE VERA Ltd.

Skilled 72

Unskilled 48

In a normal working week of 40 hours, the gang is

expected to produce 108 kg of output :

AL
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Actual data relating to finished goods and work-in-

progress :

Work-in-progress Skg 10kg
[Materials fully | [Materials fully
suppliedbut 40% | suppliedbut 80%
converted] converted]

Finished Goods 20 kg 10 kg

Actual Sales of Finished Goods: 747,000 @ 500 per kg '

- (15)
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GILOY Ltd. can produce three different products from
the same raw material using the same production
' facilities._The relevant details are as follows :

Particulars X Y Z

Maximum Market Demand (units) 6000|4000 3000

Selling Price per unit (%) 500 400 800
Raw-Material as % of Sales Value 80%|  60%| 75%
Labour Cost per unit () 48 80 64

Overhead Rate is ¥ 20 per hour of which 60% is
fixed. Maximum Raw Material available 1,00,000 kg

7

@ T 40 per kg. Maximum Production Labour hours
available 18,400 @ ¥ 32 per hour.

Required: Find out the Product Mix to yield maximﬁm
profit and determine the Profit at the selected product
Mix. (15)

OR ALTERNATIVE QUESTION

HALDI Ltd at present manufactures component ‘X’
one unit of which is required for each unit of Product
‘A’. The budgeted output of Product ‘A’ are 1,20,000
units. The cost details for 10,000 units of component
‘X’ are as under:

Direct mhterials - 96,000
Direct labour @ 20 per hour Z1,20,000
Variable overheads ; 372.000
Fixed overheads 372,000
Total ~ ¥3,60,000

The component ‘X’ however is available for purchase

at the market at Z32.00 each. In the event of the

Company deciding to purchase the component ‘X’ from

P 0.



690 8

market, the Company has two alternatives for the use

of the capacity so released as under.

(a) Rent out the released capacity at T 4 per hour.

(b) Manufacture component ‘Y’ which can be sold at

¥ 32.00 per unit. The cost data of this component
for 10,000 units are :

Direct materials ¥1,20,000

Direct labour @ 220 per hour 260,000

Factory variable overheads 236,000

Other variable overheads 384,000

Total : - 23,00,000
Required:

(i) Make an appraisal of proposal to

whether the component ‘X’ should be
manufactured in the factory or purchased
| from the market. Assume that no
‘ alternative use of spare capacity is
|

available.

manufacture component ‘X’ and state

%690

g

(ii) Evaluate the alternative use of the spare

capacity and state whether to manufacture
or buy the component ‘X’ and if your
decision is to buy the component ‘X’, which
of the two alternatives for the use of spare
capacity will you prefer?

(7+8=15)
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TION
3. (a) Define only in one sentence the following terms : OR ALTERNATIVE QUES
(1x7=7) i
(i) Responsibility Accounting (a) AMLA Ltd. manufactures two products X and Y.
Product X requires 5 hours to produce while 5
(i) Profit Centre units of product Y can be produced in one
i) T C hour. In July 12,000 units of X and 60,000 units
(iii) Investment Centre of Y were produced. Activity Ratio is 93.75%
: : i io i 49
(iv) Transfer Pricing of Capacity Ratio and Capacity Ratio is 102.4%
£40 of Efficiency Ratio. Calculate Idle Capacity
(v) Divisional Performance Ratic. (7)
i) Fi ial f Divisi | el
(vi) Financial measures o ivisiona 1 e B ciedigs divisional performance
ARG and explain any one of them with the help of an
+1+1+2=6
(vii) Non-Financial measures of Divisional example. (11l )
Performance : i
: (c) List the Different Responsibility Centres .and
2 ! =2
(b) Write only one basic difference between explain any one of them. (1+1=2)
Controllable Costs and Uncontrollable Costs.
M (%) Faw vF am A FeelRad w oA
(c) Write a short note on Control Ratios. 4)

o
(d) List three methods of Disposition of Variances.

(i) Sorafre o@rwT
(1x3=3)

PO,
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(iv) wr=iaeor 3w Fefor
(v) wwrilg wedig
(vi) wrg weilw @ ke Sum

(vii) wrig weiw & R-Rda s

(@) Faaia aeel sk sFERe ol @ 9 ad
TRad sw ol

(W) FaE I W vE G R fiRye

(7) vl & fuew @ @9 R @t T e
o Awfeas =

(%) vongem e @ 3@ X 3R Y 79 31 3| X
F IAEA B PR 5 92 N smammEar O 2 vah
IR Y H 5 T UF °S A IaRT o g5

Y 690 15

# g€ A X # 12,000 THEA AR Y # 60,000
TR W IR e wn Rk e e
IUE FT 93.75% B IR SAM AU T
FIUE F 102.4% Bl FiRFa v Fgae A e
i

(@) wrll Fues @t 9r Bl f & T @R
IR ¥ 50 wE w e JEW N wEEa ¥
AT

(w) R Sowla a8 A @ FF AR I 4 &6
TE & e Sl

4. (a) Write only one basic difference between each

of the following : (2x5=10)

(1) Cost Accounting and Management

Accounting

(i) Financial Accounting and Management

Accounting

P.T.O.
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(iii) Cost Control and Cost Reduction

(iv) Direct Cost and Variable Cost

(v) Standard Cost and Estimated Cost

(b) Average of Actual Wage Rate pér hour and

Standard Wage Rate per hour is ¥ 90, Difference

between the Actual Wage Rate per hour and
Standard Wage Rate per hour is T 20, Average of
Standard Hours required for actual output and
Actual Hours is 52 hour, Labour Cost Variance is
¥ 400 (Favourable). Calculate the Labour. Wage

Rate Variance and Labour Efficiency Variance.

&)

OR ALTERNATIVE QUESTION

(a) Briefly explain meaning, objectives, nature and

scope of management accounting. 7

(b) Write only one basic difference between each

of the following : ] (2x4=8)

(i) Standard Costing and Budgetary Control

S Y \/690
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(i) Zero based Budgeting and Traditional
Budgéting

(iii) Fixed Budget and Flexible Budget

(iv) Programme Budgeting and Performance

Budgeting
(%) Frafefa ¥ ¥ 7% & 99 F9d TF IRER FR
Miniey ,
(i) e S S
(i) e ST AR EET AEET
(i) wwE FEET #R ARE X wR
(iv) weaer @R AR aRadia @

(v) e ORI AR FHEE AR

(@) i W T Aoy R WSS AR AE A
= Wi W 90 2, AwfE WwoRd W W W SR
AAE AEY | W HE B A9 Few 20 2, alEH

% 0 1
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IR AR Al W @ R aewe aWe we
deq 52 W 2, 9 AW T 2 400 EHTHEH
21 99 Aogd o Rrtar AR s eean Pwar @ e
i)

o Jwfeas o=

() veem o@ET & I, W, W R wEEE @
Hay ¥ e ikl |

(@) Feffes ¥ @ s@s & &9 daw & gRAd FW
forfag :

(i) ¥ aFE R e P -

(i) 3= smRe swfen 3R wwoRes =wfew
(i) R I9c AR w=en ol

(iv) wrieww ufen AR yeiw swieT

5. (a) Define only in one sentence the following

~terms : (1x5=5)

e S 5
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(i) Sunk Cost

(ii) Committed Cost
(iii) Opportunity Cost
(iv) Differential_ Cost

(v) Discretionary Costs

(b) List the two basic characteristics of Relevant

Costs. 2)

(c) GINGER & HONEY Ltd manufactures a product,
currently utilising 50% capacity with a turnover of
% 72,00,000 at ¥ 400 per unit and its P/V Ratio is

40%. The cost data is as under:

Direct Material per unit 120
Direct Wages per unit 80
Variable Overheads per unit 32

Semi-Variable Overheads (which will increase by ¥ 91,200 for| 3.84.000
every 18% increase in capacity or any part thereof)

Fixed Overheads 9,60,000

Pl
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Required :

(i) Calculate the Total Fixed Cost at 50%

capacity level.

to earn profit of ¥ 112 per unit.

(iii) Calculate the Selling Price per unit to earn
a profit of 25% on capital employed at
80% activity level. The fixed portion of

capital employed is ¥215,42,400 and
the Working Capital portion is 20% of
Sales. ' (2+2+4=8)

OR ALTERNATIVE QUESTION

s (a) Write only one basic difference between each
of the following : (2x2=4)
(i) Product Cost and Period Cost

(i) Variable Costing and Absorption Costing.

(b) Define only in one sentence the following terms :

(1x7=7)

(i) Calculate the Number of units to be sold

690 21

(i) Cash Break Even Point

(i) Cost Indi.fference Point

(iii) Key Factor

(iv) Angle of Inci_dence

(v) Margin of safety

(vi) Composite break-even pbint

(vii) Budget Manual

(c) Calculate Break-Even-Point for a train journey
between Delhi and Jaipuf where cost of an Engine

is ¥ 3,20,000 and of Bogie is ¥ 64,000. Capacity

of a bogie is 70 passengers and each ticket is
priced at ¥2,400. Variable Cost per ticket is
% 400. 4)

(%) Fefafed 7= i Saw v ar A wnfia i :
(i) == @nE .

(i) wiee awE

PO
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(i) e AR
(iv) faves e
(v) Feemds anE
(@) WEfE wE A A g RRes W@ ER

(@) fifsr ge &0 ot v I & 8, S e |
50% &Wal & SUNT X W@ 8, fmer s
400,000 &R W e ? ST TEE DA FAIE 40%
2| N I} T TFR B ‘

| o &€ e wmTE 120
| f e sremer ot ¢ 80
fa gfe afedir safem 32
FE-TREGHT ST (ST &THaT I7 I8 (hell ST | 3,84,000
TEF 18% Ffeg ¥ % 91,200 7 33 2rft)

e 3oz 9,60,000
FUEH FHEN B

(i) 50% &WEl ¥R W Ho AR AR A T0FT
|
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(i) Tm i gfie @ @ il e @ fg S
T A ST S el @ A I

(iii) 80% wafafy wR W FAGE T | 25% H
A kT w@ @ o uR g R @
e e At oot @ Rfdee s
215,42,400 2 3R FEAA TR WA BeR
20% Bl

o Akfoass WA

(@) Prafafes ¥ ¥ 9@® & 9 daw F A AR
. faf

(i) SerE avE 3R JEf qw

(i) RaFE wEE SR e A
(a)%aawamﬁﬁw@rﬁaas@aﬁmmz

(i) =¥ & T UEC

(i) =i FARTE dEC
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(i) T W

(iv) e @

(v) g & wie

(vi) wom Fm-faT W
(vii) Wi A

() focdt e g A 3 A @ Fog - - e
= ToEr e e e g9 @l @ < 3,20,000
2 3k AW H FAE 264,000 B TH WA EFHA
70 afad @ 2 AR vE Rae A 2,400 TR
2 v Pac TReda AEE T 400 B

(3500)



